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QUESTION 1

Which of the following is NOT a trigger for the project manager to authorize a work package?
A. Stage Authorization

B. Corrective Action

C. Exception plan approved

D. Reporting highlights

Correct Answer: D

QUESTION 2

During stage 2, if the Project Manager decides to recommend that the Project Plan is revised to finish three weeks later,
which statement is correct?

A. The tolerances stated in the Project Plan CANNOT be changed.
B. The Executive needs to seek formal approval from corporate management to implement this change.

C. The current project must close prematurely and be restarted with a new Project Plan, a new Business Case and new
Risk Register.

D. The revision of the Project Plan would have to wait until the end stage assessment of stage 2.

Correct Answer: B

QUESTION 3

According to PRINCEZ2, which statement about the Configuration Management Strategy for the Outsourcing project is
correct?

A. Every project needs a Configuration Management Strategy, even if the organization has existing configuration
management standards, because every project has different circumstances.

B. A separate Configuration Management Strategy will be required for each of the suppliers within this project because
each will have a different way of managing and storing products.

C. A Configuration Management Strategy is unnecessary for this project because the MFH document control process is
documented. It is acceptable simply to reference this in the Quality Management Strategy.

Correct Answer: A

QUESTION 4

The \\'capability to provide health and safety training\\' has been delivered. During the \\'closing a project\\' process, the
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marketing department sent an e-mail to all key customers reminding them of the deadline to comply with the new
government legislation, with an aim to build relationships with their customers.

Which theme is being applied?
A. Risk.

B. Organization.

C. Plans.

D. Change.

Correct Answer: B

QUESTION 5
Which 2 alternative actions apply to the proposed Senior Supplier for this project?

A. Retain because she is responsible for the design of the future Information Technology organization and working
practices.

B. Add \\'Director of Facilities\\' because he is responsible for the design of the future organization, processes, systems
and operation models for Facilities.

C. Add \V'Hardware Manager\\' because he provides computer hardware to all business functions and will be impacted
by the outcome.

D. Remove because she only represents the Information Technology Division.

E. Replace with \\'Director of Facilities\\' because he supports the initiative and has many ideas about how to improve
the service.

Correct Answer:. AB
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